
Variables: Algebraic Expressions III (E-4)
EXPRESSIONS WITH PARENTHESES

Name:

Time: Score: /

161)

(3x + 0x× 5x÷ y)÷ (5x− 4x) =

162)

(4x + 8y) + 0y − 2y − (8y ÷ 4) =

163)

(6x + 7x)− (90x÷ 9− x) + 6y =

164)

y − 0x× 10y × (10y − 8y) + 7 =

165)

2y ÷ 1− (7y − 6y) + 4x× 1 =

166)

(3y − 2y)× 7 + (2x + 4x− 5x) =

167)

(4y + 0x) + 8y − 5y − (9y − 3y) =

168)

8y − 5y ÷ ((28x÷ 4÷ (7x))) + 3x =

Mathematics: Variables - Level 4 - Expressions - Set 4 22 © workulum.com

https://www.workulum.com

